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,ATED) Find the maximum and minimum values of the i\\uﬂ
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RELATED) Use the transformation & = au,y = bu,z =
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Ppts each part, total 15 pts) Consider the region D = {(z,:
2< 4,y > —1}, and the vector field F(z,y) = —yi +2j in D.

Using appropriate parametrizations of the boundary, evaluate the,
JoF - dr where C is the positively oriened boundary of D.
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(b) Use Green’s Theorem to evaluate the integral in part (a).
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I6(Z.0) = 71 + 225j be another vector field defined.
Evaluate [, G - dr on the same curve C as before,
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6(2,9) = 7 + 23] be another vector fied
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(b) Evaluate the line integral [(F - dr.
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1. (5 pts each part,15 pts total)
(&) Use the Sandwich theorem to find the following limit
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ATED) Find, with justification, all values of p for which the
is convergent,





image3.png
IRELATED) Compute the ntt partial sum S,

of the following
use it to find, according to the values of ¢, the

sum of the series

°° ok
; o >0]

/ﬂ




image4.png
' Pts each part, 15 pts total) ‘
Consider the function %
2

1w = 5ot @) £0,0)

that f(0,0) mey be defined in such a way that J becomes continuous
T ad




image5.png
If in part (a) f(0,0) has been defined correctly, prove that f is

tiable at (0,0). For this part, you may use without proof that
)= £,(0,0) =0.
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(UNRELATED) By about how much will h(z,yp = In(a? + 32 + 22
if the point P(z,y, z) moves from Fy(1,1,~1) a distance of ds = 0.1
the direction of the vector 3i+ 6j — 2k?




